
Year 5 Arithmetic Challenge 6
40 000 + 400 =           3/4 − 2/8 =           802 391 − 4307 =           

365 221 − 1997 =           20 × 7 =           675 ÷ 3 =           

6.1 − 3.32 =           34 000 + 7000 =           15.3 − 7.7 =           

252 ÷ 3 =           3/9 + 1/3 =           1000 × 22.94 =           

36 × 30 =           9.6 + 4.81 =           8/11 − 3/11 =           
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Year 5 Arithmetic Challenge 6 
Answers

40 000 + 400 = 40 400 3/4 − 2/8 = 4/8 or 1/2
802 391 − 4307 = 798 
084

365 221 − 1997 = 363 224 20 × 7 = 140 675 ÷ 3 = 225

6.1 − 3.32 = 2.78 34 000 + 7000 = 41 000 15.3 − 7.7 = 7.6

252 ÷ 3 = 84 3/9 + 1/3 = 6/9 or 2/3 1000 × 22.94 = 22 940

36 × 30 = 1080 9.6 + 4.81 = 14.41 8/11 − 3/11 = 
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